Z20—-b>v oy b S/L BiREAE

RGBLUE

UNDERWATER LIGHTING SYSTEM

Buft/53% / How to Use the Float Jacket S/ L

RGB-FJ1/ FJ2

Float Jacket Instruction Manual

BV 0T —DEEMRIL MEMAED M5X10 BIEMR)L MM
BONRET,

Remove the bolts from the Accessories. Use the

bolts provided in the kit to mount the Ball Adapter

YSAN-01 YS 7A 745 —tzw ~ (BIFE) / YS Adapter Set (Optional)

BEEZL— b / Fixing Plate

BEEMRIL & (M5X10)
Fixing bolt (M5X10)

8 &

QSA-RGB1 U+ w2 1—T75T5— (BI5%) /
Quick Shoe Adapter RGB1 (Optional)

EERIL & (M5X6)
Fixing bolt (M5X6)

Rtk

Product Specifications

Y+ X/ : RGB-FI1 #ME 78mm. £&K105mm /¥4 190g

Size / buoyancy : RGB-FJ1 Diameter ®78mm. D:105mm / buoyancy : 190g

(BERE. BEENLED)

(Including Fixing Plate. Fixing Bolts )

RGB-FJ2 #MZ 88mm. £&K115mm /%71 220g

RGB-FJ2 Diameter ®88mm. D:115mm / buoyancy : 220g

(BEERE. EEMNILEE) EAMAKR : 60m

(Including Fixing Plate. Fixing Bolts )

EAMAER : 60m

Depth rating : 60m

FIME : EPS. RF LR

Materials : EPS. Stainless steel

{IB&R : M5X67 ATUTERIL hx2AR, M5x1073A7UTERIL hx2AR

Provided accessories : Fixing Plate. Fixing bolt (M5X6) 2pcs. Fixing bolt (M5X10) 2pcs

G #E 1 RGB-FJ1 @ SYSTEMOL1, 01-PC. 01-SB. 03. 03-PC

Compatible Models : RGB-FJ1 : SYSTEMO1, 01-PC. 01-SB. 03. 03-PC

RGB-FJ2 : SYSTEM02. 02-PC. 02-SB. 03L. 03L-PC

RGB-FJ2 : SYSTEM02. 02-PC. 02-SB. 03L. 03L-PC

[RER : PE

Made in China

HRARIFER<ERI BHENGDET, 20204F8ARTE

Specifications may be subject to change without notice. Data as of August 2020

BMRARHI—F—74 + I/ Tel:045-441-0127 T221-0056 #53)| |EEEHHS) | XEHE] 2-1 N—0 27— @& R— b+ F2F
AOl Japan Co., Ltd. Tel.: +81 45 441 0127 2F, Parktower Yokohama Portside, 2-1 Kinko-cho, Kanagawa-ku, Yokohama, Kanagawa, Japan 221-0056 SL114P001-00




